= % a® —ab - bc + ac 9] A5E?

® b+c @ a-c ® a+b @a—b ® b-c¢

ala—b) +cla—b) = (a-b)(a+c)
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@ x+1 © x-1 © a+1
® x-2 @ a-1
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a?x-a’-x+1=a*(x-1)-(x-1)

=(a+1)(a-1)(x-1)




3.

X +y2-4-2xy 9

@x—y—Q

@ x-y+4

A7t o Qe A2
@ x-y-4 ® x+y-2
® x+y+2
P4y -d-2xy = (x-y)?>-2°

=(x-y+2)(x-y-2)




Dx+3 @x-1 @a+b @xty

® x+b

~&B

P txy-x-y=x(x+y) - (x+y)
= (x+y)(x-1)
ax+ay +bx +by = a(x+y) + b(x +y)
= (x+y)(a+Dd)




5. x?—y? +10yz - 2522 F AV-2MSHATAY (ax +y + bz)(x -y + cz)
7} = Aot ol a - b + ¢ 9] 32?2

@7 @11 ® 16 @ 32 ® 64

~&B ~

x% — y% + 10yz — 2522 = x? — (y? — 10yz + 25z?)
=x? = (y-52)?
=(x+y-57)(x—y+5z) °|B2

a=1,b=-5,c=5

La-b+c=11




6. x4 2x+2y-)? S AFEAFAEY (x+y) (x + ay + b) 7} H A
ol W, a+ b o] Ff27?

®-1 @0  OGn @ 2 ® 7

B :
4242y =22 -y +2x+ 2
=x+y)(x=-y)+2(x+y)
=(x+y) (x-y+2)
ca=-1,b=2
L a+b=-1+2=1




7. 16— 2%+ 4dxy — 4y? S QI5-E|5HH?

@ (x+2y-4)(-x+2y4+4) @ (x-2y+4)°
® (x—2y+4)(x+2y—4) @(x—2y+4)(—x+2y+4)

® (—x-2y+4) (x+2y+4)

~&B

16 - (x2 - dxy + 4?) =16 - (x - 2y)°
= 4% - (x-2y)°
=[44+x-2y)(4-x+2y)




